20194524 KH 3R 2%

3R 28 1200m H— bk - & D H& 210, 84, 52.5, 31.5, 215M ’
= oL . E OER 1:146 V)| BRISEBIES 534 141 435 21 434 21 444 11 i }
Y5ILy FR 2% RIE BAL B 1:14.5 L—R5 v A - $SS 239 WSS 15 SSM 11 WNS 3 Grart d
PEEE | PEEYR | BEXES F 3R 14IE=RfEE ;s%a BBE GE, F. B) Bt 2TE=L—2% |, T4v7 U5 3fIB= %IIE B - BE- AR AN
B OF | BABMEE|S 5512358 SARE - E BF -2 2. 3. 4AEBIEN 5/TE =36 - o BiHRE 24L ENY3
26| B 2 |EdEs/Felf  4BUT ZHIIF - chi - 4OF (HEL., W9, SELY A3 FML ﬁl’;ﬁﬁs& A-b~4fh - 3F~4F - 1{3F(5~1) +Y 3 FIREL
(& 8| Bow) ME | 2 5@ | 120085 |Bm E:iX gmg }ggm L—REYBFAAL - HBEOEYIFEAL > 0.5 DBAKTE MTH=1EEXE2EE (FE) 1. 2. SEEOWHE
£E/BE BAoX | BEAME | 46 ARM| # BeFR| M2 500 HiE 4 3FERT 4FERT SR
7T R— 2 ;5 " *: o ﬁjfgo 0.0.1 ::o.o.o.o 13,%%2?6%16 Ed gg ]ﬁg %1 12 K
_ o s N 4 0.0.0.0 0.0.0.1
AA—h~AE 54,0104 %0000 | Fmo000 |4 75 3% 54 3
T Al ALyz747 Z | ®ighr #40.0.00 | FHO0.0.0.0 | 420 FIMEE 54 ®©® | 420 FE:E
HHRYG4TS5R) K 128 FEH0.0.0.0 [ F70.0.00 | 1000n 4 # 1:03:5 38.0|800m &  52.7
\LI77-4 [%]| 0001 |%0001 [£40001 | --@----|SSS 36.9-38.3 334 (3)
/NERAR 0.0.0.1 | 05030380 [ £ 0.0.0.0 | &38 0000 | 74-3 7 54(0.9) %k
1o H2 ;&44$1| 3 B %go 0.1.0 | ¥=0.0.0.0 1§%¥J2?GE’14 E3 gé wb.pé.n KF
_ JEH 0.0.0.0 | F 00.1.0 e
EqnA=TL 54.0 .399 JIA0.0.0.0 | Fm0.000 | 3 T7EIFBEIA &A ;]
A 2| n2| 7HHRA—T I E|#&TE F40.0.0.0 | FE0.0.0.0 [ 461 EEK 54 66| 411 HBX
(FUFREFF) Rt .43 E40.0.0.0 | F750.0.0.0 [ 1000m & # 1:02:9 37.8|800m &  51.9
Bl E77-h [%]| 0.0.1.0 | 001.0 [£4001.0]| --®---|8S 36.9-38.3 335 (1)
IEHE 0.0.0.0 | 305202080 | £ 0.0.0.0 | 38 0000 | 74-2'7 544(0.3) sk
AR JFv—F 2|12 B[ . ::: | AZ0001 |F=0000 [19.042612 ¥ K¥} |19.0412 KF
JFr—KE A RAR W70000 | F 0001 | 2EBHE #E | #EER
51.0 .074 N4 0.0.0.0 | FE80.0.0.0 | 6 TEE 4F TA 458
3 ||K] EVAVVICEIN Z | EFE H40.0.00 | FHO0.0.0.0 | 407 FEEK 54 @@| 411 BwEX
(@5 792Y) Kt . 241 FA0.0.0.0 [ F70.0.0.0 | 1000n 4 4 1:05:8 40.9 | 800m &4  54.8
MR [%]1| 0001 |% 0001 [£40001 | --®---|8SSS 36.9-38.3 431 (6)
INEEER 0.0.0.0 | 3050080 | £ 0.0.0.0 | 38 0000 | 74-2 7 54A(3.2) Sk
48 H2 gg géeé o 7:;11 000 [ F=0000 13,04.26 6 gg ]ﬁg 014 12 KF
- _— = T E = 4 0.0.0.0 | F 1.0.0.0 55
TA4—XT354 L 54.0 .353| Ff 54-54 | %0000 | Fm0.000 |1 78 5% 2A 458
(Y 4|0 |avayre— B | BEE #40.0.0.0 | FH0.0.00 | 568 XFiE 54 Bd| 5713 XKHE
(NTLHLTzO-) K# 115 FEH0.0.0.0 [ F750.000 | 1000n 4 # 1:02:6 37.8|800m &  52.0
ElIE e %1 1.0.00 | £1.000 | £51.000 |- @ ---|S5 36.9-38.3 435 (1)
ST 1.0.0.0 | 05150580 | £3%0.0.0.0 | &38 0000 | ¥ 471" ¥74(-0.2) ek
O—SXA VA, 42 gﬁi %Aitsé i5s 7:301 0.0 [ ¥=0.000 [19.04. 26%14 F ;}c_ré 1%9{1.12 RH*
S w S, = ; - 14 0.0.0.0 [F 0100 | 2 E BEE
DXV TTINUT A |50 os0| R sa5a | 150000 | Fmoo000 | 2 T 6% 6A &
5(5| a1l Frs—s4—> B | SiEfh F40.0.0.0 | FHE0.0.0.0 | 456 ki 54 DD | 459 RHEE
(EFUTHANAN) K3 068 FH0.0.0.0 [ F70.0.0.0 | 1000m & # 1:02:8 38.5|800m &  52.3
V-Ah-24K35 [#]| 0.1.0.0 |2 0.1.00 [£401.00 | ---@----|8SS 36.9-38.3 533 (4)
HKEBE 0.1.0.0 | 315202080 | £ 0.0.0.0 | 38 0000 [ 74~ 7 544(0.2) 3k
FoSANILER 2 wﬁﬁé FO: ﬁ?[;;o 0.0.0 | =10.0.0.0 19/9{5 70 19 F g._itﬁ 1%%.23 o
S S, H oy B 420-422 | ]84 0.1.00 | F 01.00 | RXS VT E | A&
REaAS—Y Y 54.0 .181| fr 54-54 NA0.000 | FmE0.0.0.0 | 2 78 7&3A 4 488
@ 60| FurerEsa— B | grE #0000 | FH0000 | 422 %H#E 54 | 417 mite
R4 k=T ZXN) Mt 257 FA0.0.0.0 [ F70.0.0.0 | 1000m 4 B 1:03:1 39.5|800m &  51.2
RIS [%]| 0100 |£01.00 |[£401.00 | -@ «---- §SS 35.5-39.3 533 (2)
WHEEE 0.0.0.0 | #05£12£0i80 | £ 0.0.0.0 | 138 0000 | 4rY39nv+(0.3) Kk
r—77523 2 ;ﬁ#* A zzo 001 | ¥=0.0.0.0 13,04.}[%14 Ea gg wEos 22 K
o TN * £0.0.0.0 | F 0.0.0.1 AEEH
AN A=FY 53.0 086 %0000 | Fm0000 |5 78 7% 3A 5 258
17 YHISTUT BE | ®EAT #0000 | FH0000 | 426 FHE 54 @@| 414 HE=S
(RynyBvh7z) K 128 E400.00 | F750.000 [1000n 5 # 1:04:5 40.0|800m %  54.2
BE%E [%]1| 0001 |2 0001 [£40001 ]| ---®:---|8S 36.9-38.3 532 (5)
IR 0.0.0.0 | #0%02£0i80 | £ 0.0.0.0 | %38 0000 | 7-2 7 56(1.9) %k
t£r/a7aq 42 gﬁt B j:\goom F=10.0.0.0 19)%1_%)2?6;3 E3 ;;r# 1%p_€_12 X3H
o > :: ) M4 0.0.0.0 | F 0001 |2 5 HEEs
YI/E/ET 53.0 . 171 JI%0000 | Fm0000 |7 78 28 4A R 3
8|8 UK 775 B | SIiEfh 40000 | FH0.000 | 452 FAR 53 @D | 449 =&
(Grand Slam) K 068 F40.000 | F7X0.000 [1000m % # 1:07:0 41.1|800m #  52.7
HiF%kiS [#]| 0001 |20001 [£40001 | ---@----|8S 36.9-38.3 221 (1)
FII=ER 0.0.0.1 | #05£0%£0:80 | £ 0.0.0.0 | 38 0000 [ 74~ 7 54h(4.4) Sk
KF A — N 1200miB4 B AR ($ETHIRA : 2017. 05. 22~2019. 05. 21) BHTE BER 3 E MR
|[:tod EHER HERES 1F 2%&F 3&F &S = T * ©® %% 1 2 3 456 7 8
1 YIRT4T5R 689 62 71 53 503 0.090 0.193 + ® (37%M=E) 21 22 22 21 20 21 20 20
2 AR¥—kT77Lav 199 35 19 17 128 0.176 0.271 ==
3 JUHBARIVE 322 3 30 3 227 0.093 0.186 7 @ FHRSV T/ 2L RAIEG
4 I—LKE7Ya—L 228 24 21 23 160 0.105 0.197 o ® B O 2368 SKIFHEAT (534, 544) 4 sk
5 FuiaH/FuF 152 24 18 13 97 0.158 0.276 i o 1218 BFAIE L (434, 445) 3 ek
6 /4O 244 23 17 15 189 0.094 0.164 O]  F. 3945 Y (255,355 1 %
7 YZRA—IZRH— 179 2 16 11 130 0.123 0.212 BA L 10151 SEBUVAR (335, 245) 2
8 ALEFINRIL 116 20 11 2 13 0.172 0.267 N
9 TA4—TRAAA 16 19 10 13 74 0.164 0.250 %
10 AqvavR—5— 265 18 19 15 213 0.068 0.140 %

_ .. \ N TR 6, HHAOFGERL, HERGY, BTAHEE, $NTEMEERITOHBELLBMALTFEL,
20199°5H24H KH 3R 2 V5 7L FHR 2 AlE 1200m X—b 45 4 ARG B OB, IEIRERUET,



